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1. C+ O2→ CO2 
H2 SO4 + Zn → CaSO4 + H2 
H2 + O2 →  H2O


 Vypíš:
reaktanty:.........................................................................................................................................
produkty:..........................................................................................................................................

2. Doplň stechiometrický koeficient tak, aby platil zákon zachovania hmotnosti: (uprav rovnice)

	a) Na + Cl2 → NaCl 
b) S + O2 → SO2 
c) Mg + O2 → MgO 
d) Fe + HCl → FeCl3 + H2 
e) CaCO3 → CaO + CO2
f) H2 + O2 →  H2O
g) Cu + O2 → CuO 
h) N2 + H2 → NH3  
i) N2 + O2 → NO 
j) Cl2 + H2 → HCl 

	



